

$$S_r = x \rightarrow r a_r = r \rightarrow a_r = 1$$

$$a_1 \times a_r \times a_{r^2} = 4f \rightarrow a_r^r = 4f \rightarrow a_r = \sqrt[r]{4f}$$

$$a_1 \times a_q \times a_{q^2} = 4f \rightarrow a_q^q = 4f \rightarrow a_q = \sqrt[q]{4f}$$

$$a_1 \times a_q \times a_{q^2} = 4f \rightarrow a_q^q = 4f \rightarrow a_q = \sqrt[q]{4f}$$

$$a + aq + aq^2 = \frac{f}{q} + 1 + 1q = 1 \rightarrow q = \frac{f}{1-f}$$

$$\rightarrow q = \frac{f}{1-f}$$

$$x^r + f, x^r, x^r - r$$

$$(x^r)^r = (x^r + f)(x^r - r) \quad f x^r = x^r - r x^r + f x^r - 1$$

$$x^r - r x^r + f x^r - 1 - f x^r = 0 \rightarrow x^r - r x^r - 1 = 0 \rightarrow x^r - r x^r = 1$$

$$\rightarrow x = r$$

$$a = x^r + f \rightarrow a = r^r + f = 1$$

$$r x = r \times r = f \quad q = \frac{1}{r}$$

$$S_r = 1 \times \frac{1 - \frac{1}{r^n}}{1 - \frac{1}{r}} = 1 \times \frac{\frac{1-r^n}{r^n}}{\frac{r-1}{r}} = \frac{1-r^n}{r^{n-1}(r-1)}$$

$$S_n = a \frac{1-q^n}{1-q} \quad S_r = 1 \times \frac{1 - \frac{1}{r^n}}{1 - \frac{1}{r}} = \frac{1 - \frac{1}{r^n}}{1 - \frac{1}{r}}$$

$$1 + q + q^2 + q^3 + q^4 = \frac{121}{11}$$

$$a = r^r \quad S_d = r^r \times 1 + r^r \times q + r^r \times q^2 + r^r \times q^3 + r^r \times q^4$$

$$r^r (1 + q + q^2 + q^3 + q^4) = \frac{121}{11} \times r^r = 11 r^r$$

$$1, 0, 0, 0, 0, 0, 4f$$

$$\frac{4f-1}{4} = \frac{4r}{4} = 1, d = d \quad 1 + r d = 1 + 1, d \times r = 1 + r, d = r, d = A$$

$$q^4 = 4f \rightarrow q = r \quad a_f = a q^r = 1 \times r^r = 1$$

$$-x^r, -\frac{a d}{r}, \dots \quad 1, r, a_r, \dots$$

$$a_n = \frac{1}{r^n} - r^r \frac{1}{r} = \frac{1}{r^n} - r^{r-1} \quad a_{101} = \frac{1}{r^{101}} - r^{r-1} = -r^r + r d = 1$$

$$1 = a q^r \quad 1 = 1 \times r q^r \rightarrow \frac{1}{r^n} = q^r \rightarrow q = \frac{1}{r}$$

سوال ۳:

سوال ۴:

سوال ۵:

۹۵۱

$$q = \frac{a_v}{a_r} = \frac{r_0 d + r_0 d}{r_0 d + r_0 d} = \frac{r_0 d}{r_0 d} = \frac{a + r_0 d}{a + r_0 d} = \frac{a + r_0(-\frac{a}{r_0})}{a + r_0(-\frac{a}{r_0})} = \frac{1 + -\frac{1}{r_0}}{1 + -\frac{1}{r_0}} = \frac{\frac{r_0}{r_0}}{\frac{r_0}{r_0}} = \left(\frac{1}{r}\right) = q = \frac{1}{r}$$

سوال ۷ :

$$\left. \begin{aligned} a_f - a_r &= r d = a q - a = a(q-1) \\ a_h - a_f &= c d = a q^r - a q = a q(q-1) \end{aligned} \right\} \frac{r d}{c d} = \frac{a q(q-1)}{a(q-1)} \rightarrow \frac{r}{c} q = r, a = \frac{1}{f}$$

$$a_{10} = \frac{1}{x} \times x^9 = x^8 = 128$$

$$\left. \begin{array}{l} r_{ar} \rightarrow r(aq) \\ r_{ar} \rightarrow r(aqr) \\ ar \rightarrow aqr \end{array} \right\} t_1, t_r, t_r$$

$q = \frac{3}{2} = 1.5$ مرتبه

سوال ۸ :

$$\tau_{t_1+t_2} = \tau_{t_1} + \tau_{t_2} \rightarrow \tau \times \tau(aq^r) = \tau(aq) + aq^r = \tau aq^r = \tau aq + aq^r \xrightarrow{\text{induction}}$$

* $a(rq) = a(rq + qr) \rightarrow q(q) = q(r+qr) \quad rq = r + qr$
 $\rightarrow qr - rq + r = 0 = (q-1)(q-r) = 0 \quad \begin{cases} \rightarrow 1 \rightarrow X \text{ (not)} \\ \rightarrow r \end{cases}$

$$2, \frac{V}{f}, \dots$$

$$\frac{1}{f}, \frac{V}{f}, \dots$$

$$t_f = -\frac{1}{f} x_f + \gamma \frac{1}{f} = \frac{1}{f}$$

$$t_n = -\frac{1}{f} n + \gamma \frac{1}{f}$$

$$t_f, t_n, t_r$$

$$t_A = -\frac{1}{f} \times 11 + 2 \frac{1}{f} = \frac{1}{f}$$

$$t_M = -\frac{1}{f} \times 12 + 2 \frac{1}{f} = -\frac{1}{f}$$

۹ سال

$$t_{\mathcal{E}} + \mathcal{R}, t_{\mathcal{A}} + \mathcal{R}, t_{\mathcal{I}} + \mathcal{R}$$

$$1\frac{1}{4}, 1\frac{1}{4}, -1$$

$$1\frac{1}{\varepsilon} + \mathcal{R}, \quad \frac{1}{\varepsilon} + \mathcal{R}, \quad -1 + \mathcal{R}, \quad \dots \quad b^{\varepsilon} = ac$$

$$\frac{\partial}{\partial x}, \frac{1}{x}, -\frac{1}{x} \rightarrow \left(\frac{1}{x} + \mathcal{R}\right)^T = (-1 + \mathcal{R}) \left(\frac{1}{x} + \mathcal{R}\right) = \mathcal{R}^2 + \frac{1}{x} \mathcal{R} = -\frac{\partial}{\partial x} - \frac{1}{14}$$

$$\sqrt{14 \cdot 13} \cdot \sqrt{12 \cdot 13} \cdot (-1 \cdot 13) = -13 \sqrt{14 \cdot 12} = -13 \sqrt{168} = -13 \cdot 2\sqrt{42} = -26\sqrt{42}$$

$$R = \frac{-1 \pm \sqrt{1 \pm 4}}{0.5 \pm 1} = -\frac{1}{r}$$

سوال 9 ا ب

$$a_1 = -1 + R = -\frac{1 \pm 1}{r}$$

$$a_r = \frac{1}{r} + R = \frac{1}{r} - \frac{1}{r} = 0$$

$$a_r = \frac{1}{r} + R = \frac{1}{r} - \frac{1}{r} = 0$$

$$q = \frac{a_r}{a_1} = \frac{0}{-\frac{1 \pm 1}{r}} = \frac{r}{1 \pm 1}$$

$$q = \frac{r}{1 \pm 1}$$

$$a_1, a_r, a_v$$

$$a_r = a q^r, a_v = a q^v, a_1 = A, a_q =$$

سوال 10 :

$$a_1 + a_r + a_v = V r$$

$$a q^r + a q^v + A = V r$$

$$a q^r = A + d$$

$$a q^v = A + q d$$

$$a q^r = A + d$$

$$a q^r = A + d$$

$$a q^v = A + q d$$

$$a + q \times a(q^r - 1) = a q^r$$

$$1 + q(q^r - 1) = q^r$$

$$y = q^r$$

$$1 + q(y - 1) = y^r \rightarrow q y - 1 = y^r$$

$$(y - 1)(y - 1) = 0 \rightarrow y = 1 \text{ or } y = 1$$

$$y = 1 \text{ or } y = 1$$

$$q = 1 \rightarrow q^r = 1 \rightarrow y = 1$$

أمر

$$q = 2 \rightarrow q^r = 1 \rightarrow y = 1$$

أمر

$$q = 1 \rightarrow 0 \text{ or } 1$$

$$q = 2$$

$$d = a(q^r - 1) = 1 \times (1 - 1) = 0$$

$$d = V \mid q = 0$$

$$d = 0 \mid q = 1$$